





Mo 1510

& MM% ' :.'v:xzc;(
P Corshait- A= R - o
x

%ﬂerﬁr% 3 43 I’Mt;;x

" VIR)= x [lloo~7\ ] I e -
Wm{!ww&z '\f&)z? ({2¢90~)\D v

/

V)= % (490~ V)
bt 03— vy
——6- —> x
o a0

o max VU gews wha B=20

99 E/ 20)= 4900 gm’w




M : A= (42)(5+4)
s | CO“’&W: ')(g: 32

X 1

Hubg s 4235 5o 4 heoes
MWW'OQ‘ AG\): i::—-,(.:z)(x.{\q) v

7 A= A0key)
XL

7 AR
~= 0 4+t A
gttt A

O g




Bt ()= (e (ubig conspa )
D W)= B~D [445%) fin
-7 D > Y=
—~=~ O+F+ 1;(79 = min D peoms
1 Wian %=1

2 82 2% . Nlewe Here are Tp
rewt g (i,ﬂg’Q
bl e D)= £ He it (A=)




A« i T M/Mﬂ% : VQ TY‘%EL
i’i f Md we veed B dincnity

g ~ mvw& o5 Hoal
*"3/_’ VWQ')CCMOKIWM&,
l’tée gMM’ Afs:
| g6\ B E-= 3k
: Q 2
Stie for (L =D (= XH-8r
3 3

Jo V()= Y"’{?_L%fz e
W'V(@ N V0O

/,
O+t 140~~~ VIV)= 87T ¢ (3-y)
0 2 Z

"t vl ottt hou (P22




S MM-06 " Stremn A[O(
_ x |3

|10
Now  Fom (O +o)= % D O+ o= mﬁl qu)

Ao Fou gz 3 5 ya ! (2
6= il (8)-u= ' () ()
,F@‘M& O0)= ha! (2 )~ Ay 2)
= B~ 7(30-%) (2t scrve

C?(z‘i‘l ) (x*+4) (LK@M)

—~
g oy.\.\ (9(*)

—_f\ﬁ\» 6[;9

e




Mewe )’Vlwwmag ()= (x3) ¢ [8_&@3?—/
x

P P a3 (k2 12y
X3

(wt’d)



o
D ER A

7 (1925

0 mioinigh o (5= (02

:‘oml\):@

L= 4 FL09Y5) = [z24.92-

4
~J

[&




e —

adtry
e— 1600 my, ——>l
Coble ot vl wyilty iy, L3w
Cable ot
olmg bunly 0.5 (160~ %)

aoM' C‘"—' L¢3V\/+ O,£(l00~7Y)

Ao W chiiill oith, wor
M st W= 60T % W= [xeggn

e
Mimie C09= 13 [drgr® . 0,5 (001
(wit’d)



= C/(X):: EX’DEJX%O%
%% 6p?
/
C(W=p A Lix-o08 @0720
D 3% 08 e

£ ley'=] 0.5 K07 | :
=

[, é?)ﬁq—: 0.'25—(732+ éo?

&) l“f‘fxz—:.@,%)[éo?

= A=CHe)
Ly o

w2 galie.
@ k=25 ey
N 7 Cx)
- O + ++ <Yy
—————
Q.;- o






Lrtovatig Propiom bl tp Colle Prottan




CO)=F160 milyn

—~ O T
o'o MWMWM w;(s W Wa@vL M&é

Ler)

Tower YWt

e (00 mx ——

ﬁc‘h)»’g
WR G bd wles (colle mms wndor wity~ e

meé)



< 3

(ewd! 4



T/(K>
= ~ 3x~ A
g 7(2""
J7<°‘+II: |
@

'
¥= o
&
> 3
X
7‘ —
XQ 02
: Hﬁzr
(}316
+ 16
)

C ~ Lf
//I’VYWMM Q
X
2 jno,ﬂe
W (d /LL
— —
\T
[
ma_m

T’
(
~ 3.5
f’/f
S







T cethe ook of Fyain g
£ = MW‘H (7<+§)

Hed T35
el of won 3, V:W)owm: 4
Tome, +
HEMQ /_/Et’limtae:

\[//-.

x+'§

Need o i o yaeicbly

Nt R 4= % (4)

s d= [x+ &

(wrt'a)






